‘H/\L)*V_deﬁl/b, — Wede 5

Wﬁ\rv‘"—V‘P'-
O Gue o drgrer 3 Pd”d/- with  zews I, 37 Haat  pasaes Hhvoughs
(®,5)
5 g
%Lm: Ax +Bx +Cx +D
AlSo
(Y= 5
- Al ey ke = Al CrPmtek wany [ AT Ta n
= ALC- X 431X =214
+ XT_(ox *—9\\3 A= 2l2
= AT vy )

4
= 5, (=1 # 1k +20)

@ Goe o retiomdd Jumdbon e hert g o o
) o E - lbg woY& E\Lmv("\%
ovizontel A’QH @ 4 E w[ S awt crﬂ—ﬂﬁa?

- Nectcsl }\-ng(ok‘tq @ X=5  x=—&

=)
- (X=S) (X +2)

&— h et ;de”fT—r/( N Ay
bt Heeiz A‘S5 ) ‘6: 0

Bxﬁ—\— %
(X=5) (X+2)




| 2245 67
.5 b
S 6

- X
/—/_//3-3%’&"

by BTyt 3L 3%
(b) 3xy”20 ’

2. Completely factor the polynomial:

(a) a3 — 522 — 9z + 45

2 (X-5) - (% -5
(xa_ 0\)(#—?}

(=3) (x+3) (+=5)
A T(=8)  (b) 32— 102 -8

ydb‘l - R
1,2, M, 12,2 IX —12x +2x -8
27 (x-4) * 29

(Bx +2)K-Y)

MA 115 Exam 1 7 zq Name:
W
«&W \:5 1. Simplify the expression:
/ 60\&L NI 3 g4 x> x>
. i\ \ B X X’
\\§\ (,.QQZ?_”\\}-D-/ (&) 4.1"3(21‘0)74 - \17( ' 5‘1 - (L m
A wo? G
9 O\\r/\ y
O\/‘ L+ (Q‘l\)_
-4 \ -
a = —
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3. Find all solutions to the equations:

(a) 2* — 82> +16 =0

X W=

L_k
s W

2
St W B Flp =(W-4) =D
W =

gf,u\L _
3 :( gl,“k X—l: k{) K/ t}
(b)({‘/ﬁ+4):0
wyo\/\%i PyawT ls\l{b ratk\'?c-/
CSj -
X=7 +%3 A5 =
-1 = —bY
X= =57
(c) x—4=+2x =
P
(-4) =% 4

L2o%X +lb = 2%

L=73
e e 18
(=8 (-2 = ®
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4. Find the Domain of the functions:
Ly set | al[o\,-l bl TV\PL;}J
(a) f(z) =52+ 192 — 12

- PDLL? R
IR
(b) g(z) =V6—=z
b-x>0

2K
o7 R-52%
(©) 00) = 5o
(ccr""‘\‘ = t"‘7 ©
Q
> - K — =0
O\K’B‘ o o\( 51\ B 2= s

7(;_’5‘ — O

5. Find the following composition of:

flz)=22+6
g(x) =2* — 3z + 12

(a) Find the function g o f

(b) Find the function f o f
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6. Write an equation for the line that satisfies the following characteristics:

(a) passes through points (—3, —2) and (6, 10)

(b) passes through the point (5, —2) and has an undefined slope

\(er{—l‘(_z.o Lvve
( A\ Xy are CW‘H”W

(c) passes through (8, —1) and perpendicular to 6z — 3y —5 =0
\I, extrect S L°0"€

Lx =S = ZLg

=
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7. Find the inverse of the following functions:

(a) f(z) =+2x—13
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